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1. Write your name and name of school inthe space provided on the front page of this Question Paper.
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2. No additional sheets will be provided for rough work.

3. Blank papers, clipboards, log tables, calculators, cellular phones and electronic gadgets are not allowed.

4. The answer sheet is provided separately.
IR U 3N A & SR |
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During the deficiency of oxygen in tissues of human beings,
pyruvic acid is converted into lactic acid in—

(1) Cytoplasm (2) Chloroplast

(3) Mitochondria (4) Golgibody

AT & bl H SIS DI HHI & I 71 § F s
TS 7 AAfdees 3TFet # ufkafrd grdr 8—

(1) = fRrmras (2) sRaea®

(3) wTECTHRIRgaT (4) vifestrra

Which of the following is known as the energy currency of cells
(1) DTP (2) PDC

(3) ATP (49) DDT

o1 3 & fordy PIRIBT BT SHott RicrhT BT ST 23—

(1) DTP (2) PDC

(3) ATP (49) DDT

The two organism which breathe only through their moist skin
are—

(1) Frog & earthworm (2) Leech & earthworm

(3) Fish& frog (4) Fish & earthworm

91 9 W B QT S SHael AU 79 @l B §IRT LI B

-

(1) ¥Hewvddgen (2) Site ud Bgan
(3) #oTdHeD (4) Tl gd BgaT
The actin of bile juice termed as —

(1) Oxidation (2) Esterification
(3) Emulsification (4) Hydrogenation

IESESEINER IR

(1) oAfeArenvoT 2) T=difhae=

(3) uUrRRTHIOT (4) sISSISRE

Which enzyme of digestive system act in acidic medium—
(1) Trypsin (2) Ptylin

(3) Amylase (4) Pepsin

e d=l &l A & < B I9T1 U1 H 3T 91809 H hTH hrdl

%_
(1) feftas 2) esfa=
(3) wHTSSrS (4) ufea=

Normal blood pressure in human —

(1) 110/70 mmofHg (2) 120/80 mmofHg
(3) 140/90 mmofHg (4) 160/110 mm ofHg
HTa H FTH e &6 811 8—

(1) 110/70 mmofHg (2) 120/80 mmofHg

(3) 140/90 mmofHg (4) 160/110 mm ofHg

In which of the following groups, heart does not pump
oxygenated blood —

(1) Pisces & Amphibians (2) Amphibians & reptilians

(3) Amphibians only (4) Piscesonly

=1 9 9 fa el ¥ ga9 & g1 ATRISId wfoR = =81
fepat SAre—

(1) #wodvdIvT=R (2) SHI=ER G AR

(3) DI IIITR (4) daa et

Ablood vessels which carries blood back to heart is —

(1) Artery (2) Vein

(3) Capillary (4) Lymphvessels

T 5 4 BT T aTfa11 e Bl go: g DI 3R ThR STl
8

(1) g&=n (2) f3r=r

(3) @l (4) =frepT e

The procedure of cleaning the blood of a person by using a
kidney machine is known as—

(1) Ketolysis (2) Hydrolysis

(3) Dialysis (4) Photolysis

10.

11.

12.

13.

14.

15.

16.

P 991 & Yad B gIB I B g1 Y B DI gfshan

PEAR B—

(1) @rerarstaa (2) srsSIATSA

3) st (4) wrerersiaa

Which one of the following gives the correct sequence of the

reflex arc —

(1) Receptor = Muscle — Sensory neron = Motar neuron —
Spinal cord

(2) Receptor = Sensory neuron — Spinal cord = Motar
neuron = Muscle

(3) Receptor #Motar neuron = Spinal cord = Sensory neuron
—Muscle

(4) Receptor = Spinal cord = Sensory neron = Motar neuron
—Muscle

TATec foh T &1 HE hH A AT g —

(1) omE = U= = I dg — ITAD g — AwRou]

(2) TTE - I A 2 HHIog — ATAd ag — U=

(3) TE — TTAD Ag — HBIog] — Faarag — =il

(4) T8 — Aoy — FadIdg — ATt dg — ULl

The gustatory receptor present in human are located in—

(1) Nose (2)Eye  (3) Tongue (4)Ear
HEaH TS FIET BT U STl 8—
(1) =rp 2)smm  (3) ¥ (4) 1=

The secondary sexual characters in human male stimulated by—
(1) Estrogen from testes

(2) Estrogen from adrenal gland

(3) Testesterone from testes

(4) Testesterone from adrenal gland

g=eul 7 fadae <iffre aeror =1 9 & feaas g1 aRka fad
ST E—

(1) guoTH AT T IS & g7

2) rfages | AT WRETSH & g1RT

(3) guUUTH AT ST RERIT & §_T

(4) IfOgas | AT SR RSRIA S g1

Which of the following gland secrete emergency hormone—

(1) Pituitary gland (2) Thyroid gland

(3) Thymus gland (4) Adrenal gland

o & B TS gAY BTE T Srfad B 8 —

(1) drgmfer (2) eIz Ul

(3) arswaHfy (4) orfergers wfey

The life process of human controlled and regulated by—

(1) Digestive system & respiratory system

(2) Endocrine system & respiratory system

(3) Endocrine system & digestive system

(4) Endocrine system & nervous system

71=ra H STra= fahae =1 7 9 foae g1 e e ffafag
T ST 38—

(1) ure= = gd ggda= a3l

(2) IAFTFEA T T TgIATHA

(3) Sfa==Td G gd g o=

(OGRS ICINERCKIECIGE

Which of the following is correct pair of a gland and its
secretion—

(1) Pituitary-androgen  (2) Adrenal gland - epinephrin

(3) Pancreas - estrogen (4) Testes - estrogen

o1 5 | BT U U Ud S U BT e LI B—

(1) gy - gogToTT (2) srfergers T - g=E

(3) TR - QRGO (4) quoT- g TS

Which one of the following are barrier method of birth control in
human—
(1) IUCD

(2) Condom
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17.

18.

19.

20.

21.

22.

23.

24.

(3) Vasectomy (4) Tubectomy

T 5 | 1= RIS 91 3TaRTy A el a—
(1) TUCD (2) wfe™

(3) gmyTHEaE! (4) EN=HEay

Which one are not sexual transmitted disease (STD)—

(1) AIDS (2) Gonorrhoea

(3) Syphilis (4) Amoebiasis

=T+ = BT T & T A9 & R holdl 8—

(1) AIDS (2) T=rRan

(3) awfers 4) sfaaufae

The fertilization take place in human female —

(1) Womb (2) Fallopiantube

(3) Ovary (4) Vagina

Rt # o= = J A few s A goi Srars—

(1) Trater (2) srosarfz=n

(3) srUsE™ 4) =3

The primary reproductive organ in human male —
(1) Penis (2) Testes

(3) Vas-deferens

=Y H UTI A ST 8—
(1) fRrer (2) guor

(3) geparfe= (4) geprEr™

One pair of organ in the following animals are not homologous—
(1) Forelimb in human & bat

(2) Wingofinsect & bat

(3) Wingofbird & bat

(4) Forelimb ofhuman & flipper of whale

o STt # 31T T B Yo7 FHTd 81 28—

(1) |G gd TS S 1 3TUITS

(2) FecvdTHTES BTUE

(3) wel gd o as bl U

(4) ATTa BT T = Bl {Ferax

The organs which perform similar function, but have different
basic structure are called —

(1) Analogous organ (2) Homologous organ

(3) Vestigial organ (4) Atavism

TH 3T S FH BT B B forg R=1ast Jera =g fa=
BN 8 eI E—

(1) wHgfRiam (2) FHSIA I

(3) s 4) wefasH

A gradual change, over along period, in a species called —

(1) Erosion (2) Revolution

(3) Evolution (4) Evaluation

Th USIlad § o 99T & SR 819 dIl hidd giRkddd

(4) Seminal vesicle

BEATdIB—
(1) s+ (2) Raregz=
(3) sdreyEE (4) sdaegReH

According to haldene, I"life originated in—
(1) Atmosphere (2) Seawater

(3) Soil (4) Anotherplanets
oIS & JTFAR S &l SURT HIUTH ES—
(1) argHose (2) gL ST H
() FedH (4) s=aTEi TR

The different looking vegetable like cabbage, broccoli,
cauliflower, kohlrabi & kale evolved from wild cabbage, by
which process —

(1) Natural selection (2) Evolution

(3) Artificial selection (4) Variation

STEtT Y 3T e <=1 arell |afserdl Sy Sdst, Srahre,

PIATFATIR, IR Ud bl b fAf & g1 fawfaa gs—
(1) drepfde a=or (2) sSEfaw™

25.

26.

27.

28.

29.

30.

31.

3) @wFEERT (4) fafy=ram

The zoological name of human —
(1) Homo asians (2) Homo africanus
(3) Homo sarans (4) Homo sapiens

YT BT A e—
(1) srrelRma= (2) BrHrIfhaTa
(3) EHTER=A (4) STt

Maintenance functions of living organism must go on. When—
(1) They eatonly (2) Theysleep only

(3) Theyplayonly

(4) Every moment during life time

STIfaa St 7 we=aTa ufshar e & 2 —

(1) waaEaTH (2) daaAATHT

(3) dad I FHI

(4) STag=1 & SR U &v]

Heterotrophs obtain their food —

(1) from autotrophs

(2) From other heterotrophs

(3) Only from heterotrophs

(4) Both(1)&(2)

FaeH Oy SO WIS Ut R & —
(1) wurfyat s

(2) = faywarfyai &

(3) o fawmafTi |

4) (H)yJderm(2)<r=t

Outermost layer ofa leafis—
(1) Waxy cuticle

(2) Epidermis

(3) Mesophyl

(4) None ofthe above

o< Y ST H U Bl & —
(1) wrfra Sy (Rfewa)
(2) orferas

(3) uvtwedTa®

(4) SURTETH A BIS T

Transport of soluble products of photosynthesis is called
translocation and it occurs in the part of vascular tissue named—
(1) Phloem (2) Xylem

(3) Pithrays (4) Cortex

gehTel A0l & fAora Iural w1 uRasd  mHr=<ivol
(STHATH L) HEATT B | T8 FATT HATDh B FoTd AT H BT &
SHBTATAS —

(1) dryars (Feies)

(2) =% (STrIer)

(3) wASSRRHAT (4) aame
Which of the following can help in upward movement of water
through xylem—

(1) Translocationoffood (2) Transpiration pull

(3) Closing of stomata (4) Alloftheabove

o1 3 9 P11 STl B SITISTH 3 BTN S UR o1 3R 71 & farg
HEIH S —

(1) A HTREATRY (2) aTsdIcTdo T BT

3) THiHTT<=EA (4) SuRraaaH

Nitrogen is taken up by plants in the form of—

(1) Inorganic nitrates and nitrites

(2) Organic compounds prepared by bacteria

(3) Both

(4) None

AT IS Uil gRT fha wu H e Sl 8 —

(1) STHEMFH AT IAESST D BUH

(2) Sharegsii g =fHa wrefe e & s d
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(3) SFimwHIH 36. Rootbends—
4) STHA RIS L (1) Toward light (2) Toward chemical
32, Variations— (3) Toward protein (4) Away fromlight
(1) Aredissimilarities among individuals of a species STS afbd e E —
(2) Arefoundinall populations (1) gpradbranm (2) EIABISAR
(3) Areuseful for survival of species over the time (3) e HIR (4) udrerd <X
(4) Alloftheabove 37. Hydrotropism means—
affr=Tam — . . (1) Responseto light (2) Response to stimulus
(1) Q_Cﬁé)f\_’m_%f & W Hari G”%‘T ATl STAATATS & (3) Response to water (4) Response to gravity
(2) T SRRl H U STl © _ eSS IuSH A darea & —
(3) THI D A1 S B SRS & fog Suarh 8 (1) gwrrsufyergihar (2) Sgu=® ufyergfehan
4) .B‘N' ERASCl . o (3) samufasgfea (4) TS ufa g
33. Which of the following generation is never be the result of self | 38. Rapid cell division in fruits and seeds induced by—
pollination— (1) Auxins (2) Gibberellins
(1) F, (2) F, (3) F, (4) F, (3) Cytokinins (4) ABA
T 3 [ P01 U T BT 9T IGORITOT 1 IR OTTH &1 8leii— Hel d drsil 1 g IR favre = feas grruRa P s 8
(1) F, @F () F  @F S LR (2) Toreafer
34.  Which ofthe following ratio isrepresentedas 9:3:3: 1— 3) = ) 2 AB A_ .
(1) Monohybrid genotypic 39. A cell contains information for inheritance of features in the
(2) Dihybrid phenotypic form of-
(3) Monohybrid phenotypic 8% I}\{I;ieus Eig illllromosomes
(4) Dihybrid genotypic Y . . . .
A A ST 9:3:3: | gRISTATSIaT 8 — hEd q’g%"”" Aol B demgafa & g a fow & wu 7
(1) T FH S U™ Al e —
(2) fed®H= AT Uz 8% E*%*_QZE Eig @ﬂfluﬂﬁ'
(3) Tep HHOT ALTOTIHY RN
(4) fedeRoT SN cfaror Uy 40. Incell, nucleus information source for making proteins is—
35. Tendrils are sensitive to— (1) RNA (2) Chloroplast
(1) Light (2) Chemical (3) DNA (4) Mitochondria
(3) Gravity (4) Touch .
T o 4 < e feTg e & — BB H TS FHT01 & forg wsh BT gaaT ATd B 8 —
(1) geprer 2) ™= (1) RNA (2) = <
(3) TRoea (4) <o (3) DNA (4) wreTpifogar
ROUGH WORK
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